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Ak —RITEC
1RHUAE S| L oz s 1 IRSEBRER | IIR AR A 1 IREIE R | 2 ez | 2 BRI | 2 BB | 2 IRBIE R |amw/ 1 wzms
B 84 71 84. 5% 14 19. 7% 14 100. 0% 11 78. 6% 15. 5%
1 41 29 70. 7% 8 27. 6% 7 87. 5% 1 14. 3% 3. 4%
g 125 100 80. 0% 22 22. 0% 21 95. 5% 12 57. 1% 12. 0%
bk HSwmukt
a1 osBoklikaksi] 1 ek s wanen 2 Bk s wak s 2 Ak g one 1 nane
sl 2 2 100. 0% 1 50. 0% 1 100. 0% 0 0. 0% 0. 0%
1 7 6 85. 7% 4 66. 7% 4 100. 0% 2 50. 0% 33. 3%
it 9 8 88. 9% 5 62. 5% 5 100. 0% 2 40. 0% 25. 0%
o YR e
1A ez 1 BRIk ok 1 ko] 2wz 2 kBR| 2 ko] 2 ik R one  wans
sl 1 1 100. 0% 1 100. 0% 1 100. 0% 1 100. 0%  100. 0%
4 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
s 2 1 50. 0% 1 100. 0% 1 100. 0% 1 100. 0%  100. 0%
ik PRE L
Liags | skl 1 Bk amEk] 1 kEEE] 2 wenEn] 2 s BE 2 wakk] 2 ik R aka  nans
sl 7 7 100. 0% 3 42.9% 3 100. 0% 1 33. 3% 14. 3%
oS 40 38 95. 0% 7 18. 4% 6 85. 7% 3 50. 0% 7. 9%
s 47 45 95. 7% 10 22. 2% 9 90. 0% 4 44, 4% 8. 9%
Wk IS A
1iags Bk 1 gk ek 1 ke R 2 wenan] 2 iR 2 wakek] 2 iR [ans nans
sl 9 9 100. 0% 2 22. 2% 2 100. 0% 1 50. 0% 11. 1%
oS 9 9 100. 0% 5 55. 6% 5 100. 0% 2 40. 0% 22. 2%
il 18 18 100. 0% 7 38. 9% 7 100. 0% 3 42. 9% 16. 7%
Wtk I EEB
1iags ] wEBek] 1 gk ek 1 ke 2 nenan] 2 iR 2 watka] 2 ik R [ane nanes
B 2 2 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
4 1 1 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
s 3 3 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%

BREAE R PR
w2 nakd BB 1 wEmE/ A
6.5 13 5.5
29.0 2 14.5
8.3 15 6.7
RS BRI
w2 nokd BB R 1 wEmE/mnEK
0.0 0 0.0
3.0 2 3.0
4.0 2 4.0
RS BRI
vwmmE/ 2 natd B BB 1 wEnE/mnEK
1.0 1 1.0
0.0 0 0.0
1.0 1 1.0
RS BRI
vwmmE/ 2 nats BB R 1 wEnE/mnEK
7.0 2 3.5
12.7 4 9.5
11.3 6 7.5
AR BRI
LwzmE/ 2 vatkd Bl BB 1 wEnE/mmEK
9.0 1 9.0
4.5 2 4.5
6.0 3 6.0
Dl BB {55
Vs 2 ekt BE BB 1 wEhE/mEk
0.0 0 0.0
0.0 0 0.0
0.0 0 0.0



Wk 1HBh
1RHGAE | 1 ZBRER | 1 IRZBRB| IR AR ER | 1 IRERER| 2 a8 | 2 WZ BT | 2 AKE | 2 IRERE R |ann/ 1 wzns
EE 61 50 82. 0% 13 26. 0% 12 92. 3% 5 41. 7% 10. 0%
oS 2 2 100. 0% 1 50. 0% 1 100. 0% 1 100. 0% 50. 0%
it 63 52 82. 5% 14 26. 9% 13 92. 9% 6 46. 2% 11. 5%
Zofth R E RS R
1RHUAE S| 1 RZSRES | 1 IR BRR | IR AHKES | 1 IREFER| 2 5tk | 2 IR BRER | 2 AKE L | 2 IR RS SR | ant/ 1 s
sl 63 58 92. 1% 6 10. 3% 6 100. 0% 2 33. 3% 3. 4%
oS 59 57 96. 6% 2 3. 5% 2 100. 0% 2 100. 0% 3. 5%
i 122 115 94. 3% 8 7. 0% 8 100. 0% 4 50. 0% 3. 5%
(/I EY E#REIER
1A ER] 1 EREE 1 REBREIkaaERk | 1 REEE[2 62 E%] 2 KZTRE[ 2 ket 2 KEKE [ane/ 1 xens
£ 87 74 85. 1% 16 21. 6% 16 100. 0% 12 75. 0% 16. 2%
4 49 35 71. 4% 12 34. 3% 11 91. 7% 3 27. 3% 8. 6%
B 136 109 80. 1% 28 25. 7% 27 96. 4% 15 55. 6% 13. 8%
(/d__EF)  pEREER
1RFRER] 1 h2BER 1 REBRE1kakER | 1 ROBE[2x2RER][ 2 kTR 2 hakER] 2 KEKE[ane/ 1 xens
£ 7 7 100. 0% 3 42. 9% 3 100. 0% 1 33. 3% 14. 3%
4 40 38 95. 0% 7 18. 4% 6 85. 7% 3 50. 0% 7. 9%
gt 47 45 95. 7% 10 22. 2% 9 90. 0% 4 44. 4% 8. 9%
(/d__E)  #EREER
1RBIAER| 1 RZBRER| 1 RZBRR|IKABER | 1 REBE | 2KRZBER 2IRZRB [ 2RAKEK| 2 REKE |ans/ 1 nzns
3 72 61 84. 7% 15 24. 6% 14 93. 3% 6 42. 9% 9. 8%
% 12 12 100. 0% 6 50. 0% 6 100. 0% 3 50. 0% 25. 0%
gt 84 73 86. 9% 21 28. 8% 20 95. 2% 9 45. 0% 12. 3%
(/) ZohEER
1REIAER| 1 RZBER| 1 RZBRIKABER | 1 REBE | 2kZBER 2IRZRB [ 2REER| 2 REKE |ans/162ns
3 63 58 92. 1% 6 10. 3% 6 100. 0% 2 33.3% 3. 4%
oS 59 57 96. 6% 2 3. 5% 2 100. 0% 2 100. 0% 3. 5%
&t 122 115 94. 3% 8 7. 0% 8 100. 0% 4 50. 0% 3. 5%
(&__Et)
1REIAER| 1 RZBER| 1 RZBRIKASBER | 1 REBR | 2k ZBER 2IRZRB [ 2RABER| 2 REKE |ans/162ns
3 229 200 87. 3% 40 20. 0% 39 97. 5% 21 53. 8% 10. 5%
oS 160 142 88. 8% 27 19. 0% 25 92. 6% 11 44. 0% 7. 7%
g 389 342 87. 9% 67 19. 6% 64 95. 5% 32 50. 0% 9. 4%

s R 55
w2 nakd BB 1 wEnE/ AR
10.0 5 10.0
2.0 1 2.0
8.7 6 8.7
BRsRER PR
w2 nokd BB R 1 wEmE/mmEK
29.0 2 29.0
28.5 2 28.5
28.8 4 28.8
&R TRAZR
1rzmE/ 2nekE B HE B L xemE Rk
6. 2 14 5.3
11.7 4 8.8
7.3 18 6.1
&R TRARZR
1wzeE/ 2nekd BEFE R 1x2es/mREK
7.0 2 3.5
12.7 4 9.5
11.3 6 7.5
&R TA/R
1wzeE/ 2 ey BEE R 1x2ns/mREK
10.2 6 10.2
4.0 3 4.0
8.1 9 8.1
fER TA/R
1rzeE/ 2nens $EHE R 1rewE/RAEK
29.0 2 29.0
28.5 2 28.5
28.8 4 28.8
fER TA/R
1rzeE/ 2nens $EHE R 1rewE/RAEK
9.5 24 8.3
12.9 13 10.9
10.7 37 9.2



